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COMMON HALF YEARLY EXAMINATION - 2023
Std - X
Time : 3.00 Hours MATHS Marks: 100
l. - Choose the most appropriate answer: 14x1=14
1. 1f{(a,8), (6, b)) represents an identity function, then the value of a and b aro respectively
a) (8, 6) b) (8, 8) c) (6, 8)
2. T;]T sum of the exponentis of the prime factors in the prim t|on of 1729 is
. a b) 2 \@4
3. Graoh of alinear equationisa 0
a) circle b) hyperbola c) straight li parabola
4. Ina AABC, AD is the bisector of ~ BAC. IfAB = Bc = and DC = 3cm. The

length of the side AC is

a) 6cm b) 4cm 3c d) 8cm
5. The area of triangle formed by the points ( , UEI =5)and (5, 0) is
a) 0 sq.units b) 25 sq.units C sq its d) none of these

6. tanOcosec?0 - tan® is equal to

a) seco b) cot?0 d) coto
7. When a sector of a circle is transform orm a cone, then the arc Iongth of the

sector is .......
a) slant height b) dtameter ¢) circumference of the base

d) height
8. Which of the following is incor |
a) P(¢)=0 c) 0<P(A)<1 d) P(A)+P(R ) = 1

3
9. The next term of the so § ...... IS

16 B 12 18
1 2 1
) 24 : : 3 d) &1
10. The solution@‘l )? = 9 is equal to .
a)-1 - b) 2 c)-1, 2 d) none of these
1. Tho hBi N\ ght circular cone whose radius is 5cm and slant height is 13cm will
a) 1 Ocm b) 13cm c) 12cm- d) 5cm
12. The non-diagonal elements in any unit matrix are .......
a)0 b) 1 c) m d)n
13. Variance of first 20 natural numbers is
a) 32.25 b) 44.25 c) 33.25 c) 30
14. The range of the data 8, 8,8,8, ... 8is
a)o b) 1 c) 8 d) 3
Il. Answer any 10 questions. (Q.No. 28 compulsory) 10x2=20

5. IfBxA={(-2, 3) (-2, 4) (0,3) (0.4) (3, 3) (3, 4)} find Aand B.
6. If fof(k) = 5, f(k) = 2k - 1. then find the value of k?
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2
Ina G.P. 729, 243, 81, .... find t, | X-MAT

Find the LCM of the given expréssion P2-3P + 2, P2-4,

. Write down the quadratic equation in general form for which sum and product of the

roots are 9 and 14.

. What length of ladder is needed to reach a height of 7t along the wall when the base

of the ladder is 4ft from the wall? Round off your answer to the next tenth place.

5
. Find the equation of a line passing through the point (3, -4) and hawng slope =
. Find the angle of elevation of the top of a tower form a point on the gmunﬂ WhICh IS
30m away from the foot of a tower of height 10/3 m. H"’
. Prove the following identities : SORY sech - tano. xu,. f
1+sin6 %

. The curved surface area of a right circular cylinder of hagh"’f 14,¢m is 88cm?. Find the

diameter of the cylinder.

Find the intercepts made by the following lines on the coordinate axes
4x+3y+12=0

. A coin is tossed thrice. Find the probability of gﬁfﬁng exactly two heads?

The ratio of the volumes of two cones is 2:3. Fmdﬂw ratio of their radii if the height of

“secone cone is double the height of the first,
. Answer any 10 questions. (Q.No. 42 qmﬂpﬂsory)
. LetA={1,2,3,4}andB={2, 5, 8, 11 14}bhgwo sets. Let f:A — B be a function given

10x5=50

by f(x) = 3x-1. Represent this function i) by arrow diagram ii) in a table form iii) as a
set of ordered pairs iv)in a graphlcal &)rrn

. Consider the functions f(x), g(x), h(x)ds given below.Show that (fog)oh = fo(goh) if

f(x)=x-1,g(x)=3x+ 1, and h(x): "

. The sum of three consecutive: termS that are in A.P. is 27 and their product is 288.

Find the three terms. '\

. Find the square mot of 64:(‘“* 16‘x”3 +17%x%2-2x + 1.
ca 41 &
IfA= 1.2 sht:n.mrfhahﬂ\2 S5A+71,=0

State and prove basie proportlonalny theorem.

A(2,1) B(6, 1.~_ 0{4 11) are the vertices of AABC. Find the equation of the altitude
throughA. (3™

Find the equatrdn of a straight line parallel to y axis and passing through the point of
intersection of the lines 4x + Sy =13 and x -8y + 9=0

From the top of a tower 50m high, the angles of depression of the top and bottom of
a tree are observed to be 30° and 45° respectively. Find the height of the tree.

52
, then prove that —
a

cosf® 1

1+sin® a

A capsule is in the shape of a cylinder with two hemi-sphere stuck to each of its

ends. If the length of the entire capsule is 12mm and the diameter of the capsule is
3mm, how much medicine it can hold?

If = sind.

. Find the coefficient of variation of 24, 26, 33, 37, 29, 31
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that §, = 3 (S,-S,)
:;I. :)néwert.the following all questions 2%x8=16
: onstruct a triangle similar to 3 given trian ith its si i
e gle PQR with its sid
the corresponding sides of the triangle PQR. (Scale factor 3!52'1 )es eq(Laallat)o =i

b) Take a point which is 11c
M away from the centre of a cj '
draw the two tangents to the circle from that point, - of@US fom ane

44. a) Discuss the nature of solutio i
| ns of the quadratic equatio Nﬁ ) =
b) Draw the graph of xy = 24, x. y > 0. Using the gragh findn }(0 ==010R)

)ywhenx=3 ) xwheny =g &

.Y
ﬁ\\f\\r:
: 1\?
SR
3 \_ﬁ
.r‘{q .
\,)T \\ Y\
; A ) v
(R
\ .
Fal
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sme ¢ 3.00 woswf Hib'ﬂﬂﬂg}ﬁ] mgﬂ@uﬁiﬂmsir:mﬂ
I aflurer aflmiows Combsdss Las. 14x1=14
1. R{(a8), (6, b)} ayeng em swalésriy aafls a Lopmid b oy Suaimdler WL GemTaIET
a)@§,6) b) (8, 8) c) (6, 8) d) (66)
1729 o usné smafiu@SsI0UTS), 6 UsT mamesT 3@sE, B

2

a) 1 b) 2 c) 3
3. om Crflu sweTum gt EDTULLD ....... 9 GL.
4

a) e’ Lip b) gflursusmenun  ¢) CriGam( ? LI 6LEMEMLILD
AABC & AD oemg < BAC Wler  @\meuntoucy AB & , BD = 6Qs.5 wpmid

DC = 3@s.5 seeflso ugein AC dr femd
a) 6Ce .5 ~ b)4Qe.s c) 3Qe..f ? d) 8@i.15
5. (-5,0), (0, -5) wimud (5, 0) ey ysreflaamme gqﬁmmé;@ (w&Caramsdlar Ly
a)0&.g b) 25 &.9 c) 5s. d) srgyaiflsusmen
6. tanOcosec?0 - tand sr wdiy
a) sect | b) cot?0 C)«§ind d) cotf
7. em L sGsramiugd swiune wryih Curs sk, aflsosilsr erédle SHUGL LTHDD
a) amywino b) eI Lib claidim amsrey
d) @&saiumo
8. Qesmhssiu’Lmaussio g saummamg? O
a) P(¢)=0 D)PA)> 1 N 0Pt d)PANP(R) =1
3 11 1 . . _ _ _
9. 16° 8’12 18 ' - 1D Glam ir 2(HES 2 L]
1 1 2 1
a) 24 b) RQ c) 3 d) 31
10. (2x - 1)? = 9 ufleir Sriey | |
a) -1 b c)-1,2 d) srgusyo @lsusmey
11. gumb 5 Q&b womn & 0 18 Qa.f 2 mLw CriaulL &8 1006 2 WwTb
a) 10Gs .8 B c) 12Q& .5 d) 5Qg .18
12. saQaumm i@l epmaai L so @lwars o miiss
3‘% Q\b) 1 c)m d)n
13. was 20 @msﬁ@msﬁr GEs AITGESHE eqramiumeaTsg)
a) 32.25 b) 44.25 c) 33.25 c) 30
14. 8, 8, 8, L8 S sreflen aiEs
a)0  ° b) 1 c)8 d)3

Il. oG U aflerméesEmoE efleiwefl. aflsam 28 slimu eflem 110 x 2 = 20

15. BxA={(-2, 3)(-2,4)(0,3) (0,4) (3, 3) (3, 4)} st A oimih B gy Slusunenms smeima.

16. fof(k) = 5, f(k) = 2k - 1 srefled Kk air wglumus smems:

17. 729, 243, 81, .... eretrm Qums@stsmi aflmeufion 7ag 2 mlumus snams.

18. P2- 3P + 2, P2 - 4 et 15.Quimr.lo. SMeuurs.

19. 9, 14 o eprEsTsT snBGN WHNID DUEHSSHUNTTES GGTETL BlHLly SWETUT L& ST,

20. safar opufeSmig 4 o Gemamasii o dmar gauflunag s o &y 7 oy 2 wrsdle
QarH el Camanursr sramfluilsn BiTémed smamms.

: i =95 . ; -

21. (3, -4) ererm werefuflsor eufiG  GlEcomigm 2 % STLeUTS 2 L LgiLomsT GorGam_ g 6or
FLOGTTLITL_ 6D SHIT6HTe.

22. 104/3 5 2 wruperer Gamursdear puilsimig 306 Garmeelle syl 2 6rer 6
et ufeS\mia Comradear o &fllar gnns GCammamass sreams.
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cos o : _ =
23. 1756 = sech - tanb sremm (i QmmmHeLsL, lemL1&&6.L0. 10-&; 6urf]
24. 88 &.0lg A susmemLITLLELIL S GETouL |2 meanemiflsir 2 wmb 14 Ggb sTerfled 2 @emsmulletr efiL i
SHITEHT .
gg ggﬁh §1 @u;g mgmfnﬂsirr S Laflnssgmas srems.
. 4x + 3y + 12 =0 erory CriGam iger &wssrum’ o sSimi w oyFssaflear Gue sonub&sID
M@ggmmé SITEU0T S5, i i
27. @G HTewnu WDl ey semmn.Ou@id GCurg sfurs @rem(h sSmasst SoLss fepseoy
ST,
28. B© siusallsn sar snaysaflsr afldisn 2:3 o @i, Gem mb s b 2 W (W snblsT
" g_émg,sn?gu Gumey @[:[5 wLmE oefle, Sundlenr gyhiseaflsn aflélgn sreamrs.
29 g_ 1 lﬂ2 10 ﬂﬂﬁi{"ﬁﬁ@m@ aflemLwefl, (@fl.erer 42 slLmu  eflern) 10 x 5=50
- A={1,2, 3, 4} wigd B=(2, 5, 8, 11, 14} srsirur B\ sammisst o, KA — B agyd smiy
f(x) = 3%-1 oo QB Gereng) @\sammiNensiré: Glasmenor(h) i) poLEEH
30 i) auflme Gemy seflsir semmd iV) suenmuL (i o Slwapemms Gnlas. s,
: Q&H@EEUULL f(x), g(x), h(x) oy Bwenomns QersnG (fog)oeh = fo(goh) ererssm’ Hs.
\y 0= 4 900 = 5 + 1 i ) = N
- 80 SLbs6sn i aflmalls ymuEs GSSHGS et &ofle & (B0 27 LoHmith
Qumsshuser 288 safld oyhs CPSITDl 2 MI'ILSHEmETE ST gﬁ@ - !Dﬂll
32. B4x‘ - 16x3 + 17x2- 2x + 1 sreimussir SUT&SELPID ST @
3 1
33. A= 1 2} steufled A2 - SA + 71, = 0 srem @@QT&%%
- Stpiuen sidigen Coipes sd Spes. ()
. AABC s yememaar A(2,1) B(6,-1) C(4, 11)@. Aullsblmibg) sUSIMULILGILD (&8816Eem tp e
SLSITUN 60L& &T6u0Ts.
36. 4x +5y =13, x-8y+9=0 YR Gﬁﬁ%}mﬁ Frdle@n ystafl auflurseyn, y oéaée

@imemmunsayd 2 sem G GaM Lgsin M_6OL& STeuns.
37. 50 f 2 wyyser @@ Camrsdsr 2§ Bl mES1 B WISl 2 &4 wmd o gy SwaiHsh
x601)

Camemmusst wemmGuw 30° wmmih 4 60 LISHTT 2 WTSMSS Hress.

L ]
-
s,

o K

38 cosb 1 o a® -1 _- |
" 1+sing a " a +1 ¥ {7 Festasar
39. 80 uEHE GUI, @i o mEls @EUDYD smTECeTe; i 5 s
. ] UL, @ 2 [BepSmigT (P 6o &G memLn @\emeTi g sulgafls) 2 siramay.
Guilullerr Chonse Be o’ § b Loomio eSICLD 3 Bl.AF sterflsd oydlen DL SSLILIBID Lo(mHSs fslﬂ

DTENEUS ST,

40. 24, 26, 33, 37, 29, 31, o Sweupdlsir wrmyum’ Gé Gl&pemeud setrss.
41, @rewr(p usenL &) %'_Lﬂu@ﬂﬁrmm. @rem (B &wdiysEmn Fwors Pmés g s

42. S, S, . gpﬁm,mﬁu.l B0 &l BB i auflmaulisr wes n, 2n whmuo 3n
S blge0 ereafle S, =3 (S, - 31) st (Hlmi6 .
- V. gmarsg aflarmésemneen  aflswe: 2x8=16

43. 2) QanGésiucL yalstamb POR ohs ussissii fldsn -
) Qen@ésiiu’ L pé&Camewn 958 useHGTET Al 5 ST ST G

- L 3
G i ' = \
SUlp bIUTSS (PSHGasTemTD euenys. (iemeydemysmf) 5 <1) (Dy60605)

b) 4 Q&5 ayrupsiter au'Lid cuenig) e s 6O\ :
. s : o : S6or ouwsSlalnig 11 Ge.f Ogrensvellsysier
4. e, @55, SiuetefIeGis L Sie Grant OsrHCHGas ars, |
) )x X- 1 = ﬂ.HT.’D @@Lﬂ?ﬂ: mmU"LIp.fﬁT gﬁ'ﬁu&ﬂﬂfh gJEBT 6MLO6MLL mmj_[]] tg]m &I,HTHI'JE-
(Dy006081)

b)xy=24,x,y}0ﬂﬂmmuuL‘ : : e : .
sising. ii) y = 6 serfléd X gés s, o PP WELGSE ) X = 3 el y g
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) D3 / 0f3m erg:cgf
3) <) Stweught linC & 3
4) B) 4cm Ll +nn9=!_;_@:.!r.:.
c "0
5) B) o9 .:‘56?. s S ‘)'Clﬂ 35: = "?: %E:Eﬁﬂj
G D) c:ot 6 - 23) 1ys: cosd 1 5108
__C,f_'@-" @ C-D Circurﬂgekmﬂe GF \-}-fﬁﬂ@ 1——'3:1"*9
e base . 1__:.5;;‘18)
B BRI o = PP |
CD ED Yav "_ACCB ) g __{,;n@); L:_ﬂ
19) ¢) —\,2 , - 20 ceshP
X RDCBE o ‘ L ood
“) C) |2¢cm e BCCA . P___‘__E_%. - 5e¢cb ~ a
e @ A o - cA | O afﬂ ]
, ;' = QN7 '
I2) C) 3325 g«@\cgg ey Hﬁ. "
' %22 xYx D ‘
14) A) O O 2% 22 e

_D-1=b - .
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4.\..(__-2,—1 i J 12 J 12
— 'I _ -
D ba= O “’@}q ) AR
n
%}EN 5 A
_ 1T\2 26) £ =0 > o+3y4la=07 Y
E'T"' 79—%% >H:ﬂ;‘?h3ﬁ+ﬂ+li:ﬁ£"r ~ =—5

2) (P"i> e 'im!-efrcep‘c a=-—3

2.
¥ Pz _ 2 (P+2) y intercept b=-7

: ) i T, HTHANTT, THH, THT
e eN(p-2) (P22 CF % 27) § = T, L Y13 ne=7
2 (g,00R) X +(P. O. R)=0 A= JHNT, HTH, THR Y n(Ad=3

_ntp) - 3
=0 P(A) = TS 7

..-‘r 1
51-'{; J_I@;llw_m 28) VitVa=2:3% (_v:lﬁrn-'r h>
/ ®, o —
_ lnqH6 - Jem =8| ft| Also Given ha=2hy,

LM AT o2
;;_9 9#'5]:-'1’1’}(?1-'759 Vi 7{%TEh1 '
=X |5 o 2
~ 5 ~-3) = — += -2 2 ._T_L :L_P_..
Yk = - F (X 2 :31’}};{;[/—3'?(?2 3
3 )

\ R} *?'__—Ylhf“l:'l'lr\%_,
. Bx$TYHE=0 3 ‘,;.Lg_' 3 7 T
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